











To- wse o formal metrod we wourldd lay owt Hre guestion Uke Hils... |
-

|
¢——1. NUMBER SENTENOE

49 3; 4 = s
A</ Ci\ sl 400 0 118 VB Grbd/ W
‘@0 O 4| 1200 | 20 | 42
100+ 2O + 4vr2 ¥ 1242
& 4. Ad—ob Mww

—2. Show me how yow partitioned

PA RTITION

DIVIDE ]

ADD




Whew yow are doing youwr guestions, layout your work like tiis:

+———1. NUMBER SENTENCE

—2. SMWMMWyowpwrWMd

s|l20|12|1r1 HHH_
4. Add answer
20 + 12 + 1rl = 33¢1 L]

FPARTITION -

DIVIDE ]

ADD




TASK: divid. these 3-digik msembers

I

Spwy:
1.429 =3 = 1I1. 504I+4=
2.560 + 4 = 12. 642 + 6 =
3.615+5+= 13.752 + 8 =
4. 764 + 4 = 14, 558 + 6 =
R 15.728 + 8 =
6.670 + 5 = 1|6. 592|+4=I
7.488 +2= 17. 684 + 2 =
8.920 + 4 = 18. 328 + 4 =
9.363+3= 19. 648 + 8 =
10.510 + 5 = 20. 684 + 6 =

| . . | |

21.

22,

23.

24,

25.

26.

27.

28.

29.

30.

954 + 9 =

637 +7=

678 + 6 =

665 + 7 =

945 + 9 =

864 + 8 =

574 + 7 =

708 + 6 =

936 + 9 =

623 +7 =




o Find the answer to 146 + 2.

O

» & W
I00+2-D 40+2-D 6+2-D

o Use the part-whole model to find the answer to 185 + 5.

()
=@
o

Each sheep needs 3
squares to graze on.

o a) How many sheep can graze in the farmer's field?
b) A cow needs 4 squares to graze on.

How many cows can graze in the field?




Spwey:

ANSWERS:

10.

143
140
123
191
96
134
244
230
121

102

1. 126

12. 107

13. 94

14, 93

15. 91

16. 148

17. 342

18. 82

19. 81

20. "4

21.

22,

23.

24,

25.

26.

21,

28.

29.

30.

106

91

13

95

105

108

82

1n8

104

89




o Find the answer to 146 + 2.

100+2=50)] 40:2=206+2=(3

(50+20+3 |- [_3
146 + 2 = ’7_]

B ° Use the part-whole model to find the answer to 185 + 5.

<
(=) )

“Y:

a) Il x 12 =132
S
There are 132 squares in total. —

000
I partitioned

60+3=2060:3=2012+3=4 the number
132 + 3= 44 of squares
in different
@ ways. [ got
the same
answer each
20+ 20 + 4 = 44 time.

44 sheep can graze in

: 120 3 40 IZ I=4
the farmer's field. . :

oo

30+43=1030+3=10 30+3=10 30+3=10 2+3=4

! (v)

80+4=20 40+4=10 12+4=3

132+4=33

33 cows can graze in the field.




